
34

Learn more - www.rhmachine.com  1-800-321-6568
R & H   Chrome  Alloy  ROD WEEDER  PARTS

Weed out the rest---Use the best!!!

 SPROCKETS
  We off er chain drive, rod drive, and idler sprockets.

   COLLARS
    Collars are used on both sides of drive sprockets, and can be turned to obtain even longer life.

     GOOSE-NECK POINTS                   
      We have goose-neck points, with Chrome Alloy rod installed, to fi t your rod weeders.
       

       SPOOLS
        We have regular spools, barrel spools, and spools with set-screw collars

         WEAR BLOCKS
           Wear blocks are available to fi t all types of our spools.

           BOOT POINTS
            We have regular, rock, and universal boot points.

             WELD-ON RODS
              We have Chrome Alloy rod for use
               on  your goose-neck points
                 (see RH 16).

 R & H Machine off ers an extensive line of Chrome Alloy rod weeder wear parts to fi t 
Calkins, Case IH, John Deere, Morris, Flex King, Edwards, Anderson, and Leon.  We sell sprockets, 
wear collars, spools, wear blocks, and boot points.  By popular demand, we have added goose-
neck points with Chrome Alloy rod installed; and we have Chrome Alloy rod available for you to 
weld onto the front edge of your goose-neck points.  All of our parts are cast of High Chrome 
Alloy to give many years of reliable service.

 R & H Chrome Alloy wear parts have proven themselves in all areas of the country and 
in all soil types.  Our rod weeder wear parts not only last longer than standard parts, but also 
lengthen the life of the chain and other components in several ways.  R & H Chrome Alloy 
wear parts don’t allow the teeth to “hook” as readily, resulting in less stress on the chain and 
extended chain life.  Most of our boot points are made wider than standard parts to give better 
side plate protection.  Our boot points also are made with deeper penetration on the bottom 
to give better sprocket protection, resulting in prolonged chain and sprocket life.

Setting  the  Standard  for  Wear!



35

R & H   Chrome  Alloy  ROD WEEDER  PARTS

R & H Machine Inc ● 115 Roedel Ave.   Caldwell, ID 83605 ● 1-800-321-6568

TO  FIT:  INTERNATIONAL

RH 860 WEAR COLLAR for RH 801

NOTE:  Please specify 7/8” , 1”, or hex rod

CENTER DRIVE SPROCKET and COLLAR
RH 801 CENTER DRIVE SPROCKET

GOOSE-NECK POINT
RH 869 A GOOSE-NECK POINT

Chrome Alloy rod (RH 16) pre-welded onto 
leading edge of 3/8”  T-1 steel.

MAIN DRIVE SPROCKET
RH 861 MAIN DRIVE SPROCKET

RH 825 A IDLER SPROCKET with BUSHING

IDLER  SPROCKET ASSEMBLY

 RH 826 - 1/2”
 RH 827 - 5/8”
Length:  1-1/4”

NOTE: Please specify 1/2” or 5/8” bolt

RH 794 or RH 795 F  CAST WASHER

RH 794 - 1/2” hole
RH 795 F - 5/8” hole
Diameter:    1-3/4”

RH 868 ROCK POINT

BOOT POINTS
RH 866 REGULAR POINT

RH 862 SPOOL with SET-SCREW COLLAR

SPOOLS and WEAR BLOCK

NOTE:  Please specify 7/8” or 1” rod

RH 865  WEAR BLOCK for BOTH

RH 864 SPOOL

NOTE:  Please specify 7/8” or 1” rod

Collar diameter:
 Outside:  3-1/8”
 Inside:    1-7/8”

Length:    2-7/8”
Diameter:    2-1/2”

Length:    2-1/8”
Diameter:    2-1/2”

Width:    3-1/8”
Holes:    3/8”
Hole spacing:   2-1/8” Length:    4-1/2”

Thickness:    1-3/4” 
Web thickness:   5/8”
Holes:    7/16”
Hole spacing:   2-1/4”

Length:    4-3/4”
Thickness:    1-3/4” 
Web thickness:   5/8”
Holes:    7/16”
Hole spacing:   2-1/4”

Diameter:
 Outside:  4-7/8”
 Inside:    1-1/8”
Teeth:   11

Diameter:
 Outside:  5-5/8”
 Inside:    2-1/8”
Holes:    7/16”
Hole spacing:   2-1/4”
Teeth: 13

Length:    15”
Width:    3-1/2”

Diameter:   4-7/8”
Width:   2”
Teeth:   11



36

R & H   Chrome  Alloy  ROD WEEDER  PARTS

R & H Machine Inc ● 115 Roedel Ave.   Caldwell, ID 83605 ● 1-800-321-6568

TO FIT:  CALKINS

RH 801 CENTER DRIVE SPROCKET

RH 805 WEAR COLLAR for RH 801

NOTE:  Please specify  7/8” , 1”, or hex rod

CENTER DRIVE SPROCKET and COLLAR

RH 815  WEAR BLOCK for RH 814

SPOOLS and WEAR BLOCKS

HYDRAULIC DRIVE SPROCKET 

RH 828 A HYDRAULIC  DRIVE SPROCKET

                                                                                    for 1” shaft

   

Collar diameter:
 Outside:  3-1/8”
 Inside:    1-7/8”

Diameter:   4-7/8”
Width:   2”
Teeth:   11

Diameter:   4-7/8”
Width:   1-5/16”
Teeth:   11

IDLER  SPROCKET ASSEMBLY

RH 810 BARREL SPOOL

RH 812 BARREL SPOOL with SET-SCREW COLLAR

RH 813 WEAR BLOCK for RH 810 and RH 812

RH 814 STRAIGHT-SIDED SPOOL

NOTE:  Please specify 7/8” or 1” rod

Length:    1-7/8”
Diameter:    2-1/4”

NOTE:  Please specify 7/8” or 1” rod

Length:    2-5/8”
Diameter:    2-1/4”

Holes:   3/8”
Hole spacing:   1-1/2”

NOTE:  Please specify 7/8” or 1” rod

Length:    1-5/8”
Diameter:    2-1/4”

Holes:   3/8”
Hole spacing:   1-1/2”

RH 825 A IDLER SPROCKET with BUSHING

 RH 826 - 1/2”
 RH 827 - 5/8”
Length:  1-1/4”

NOTE:  Please specify  1/2” or 5/8” bolt

RH 794 or RH 795 F  CAST WASHER

RH 794 - 1/2” hole
RH 795 F - 5/8” hole
Diameter:    1-3/4”

Diameter:
 Outside:  4-7/8”
 Inside:    1-1/8”
Teeth:   11



37

R & H   Chrome  Alloy  ROD WEEDER  PARTS

R & H Machine Inc ● 115 Roedel Ave.   Caldwell, ID 83605 ● 1-800-321-6568

MAIN DRIVE SPROCKET 
RH 802 MAIN DRIVE SPROCKET

RH 822 BOOT POINT - ROCK

BOOT POINTS

RH 816 SE  SINGLE-END GOOSE-NECK POINT

GOOSE-NECK POINTS 

TO FIT:  CALKINS, cont’d.

RH 820 BOOT POINT - REGULAR

RH 821 BOOT POINT - to fi t CULTA-WEEDER

RH 823 BOOT POINT - UNIVERSAL

Diameter:  9-3/8”
Teeth:    22
Holes:    3/8”
Hole spacing:   2-13/16”

RH 816 A STANDARD GOOSE-NECK POINT

Length:    15”
Width:    3-1/2”

Length:    16”
Width:    3-1/2”

Height:    4-1/2”
Thickness:    1-1/2” 
Web thickness:   5/8”
Holes:    5/8”
Hole spacing:   1-7/8”

Height:    5-1/2”
Thickness:    1-5/8” 
Web thickness:   1”
Holes:    5/8”
Hole spacing:   1-7/8”

Height:    4-1/2”
Thickness:    1-1/2” 
Web thickness:   5/8”
Holes:    5/8”
Hole spacing:   1-7/8”

Height:    6-1/4”
Thickness:    1-5/8” 
Web thickness:   5/8”
Holes:    5/8”
Hole spacing:   1-7/8”Chrome Alloy rod (RH 16) pre-welded

onto leading edge of 3/8”  T-1 steel.

Chrome Alloy rod (RH 16) pre-welded
onto leading edge of 3/8”  T-1 steel. RH 824 BOOT POINT - ROCK

Height:    4-1/2”
Thickness:    1-3/4” 
Web thickness:   1”
Holes:    5/8”
Hole spacing:   1-7/8”



38

R & H   Chrome  Alloy  ROD WEEDER  PARTS

R & H Machine Inc ● 115 Roedel Ave.   Caldwell, ID 83605 ● 1-800-321-6568

RATCHET DETENT
RH 858 RATCHET DETENT

GOOSE-NECK POINTS
RH 846 A STANDARD GOOSE-NECK POINT

TO FIT:  JOHN DEERE
CENTER DRIVE SPROCKETS

NOTE:  Please specify 7/8” or 1” rod

RH 832 HEX-CENTER DRIVE SPROCKET

RH 831 CENTER DRIVE SPROCKET

NOTE:  for 1” hex rod

500 SERIES COLLAR and BOOT POINT

800 SERIES COLLAR and BOOT POINT

RH 835 WEAR COLLAR

RH 850 BOOT POINT

RH 838 WEAR COLLAR

RH 851 BOOT POINT

RH 842 SPOOL with SET-SCREW COLLAR

NOTE:  Please specify 7/8” or 1” rod

SPOOLS and WEAR BLOCK 

Diameter:   4-1/4”
Width:   2”
Teeth:   9

Diameter:   4-1/4”
Width:   2”
Teeth:   9

Collar diameter:
 Outside:  2-7/8”
 Inside:    1-3/4”

Length:    5-1/4”
Thickness:    2-1/8” 
Web thickness:   1-1/2”
Holes:    7/16”
Hole spacing:   2-1/8”

Length:    9”
Thickness:    2” 
Web thickness:   1-1/8”
Holes:    7/16”
Hole spacing:   3-5/8”

Collar diameter:
 Outside:  2-3/4”
 Inside:    1-3/4”

RH 855 A IDLER SPROCKET with BUSHING

IDLER  SPROCKET ASSEMBLY

RH 794  CAST WASHER

Diameter:    1-3/4”
Hole: 1/2”

Diameter:
 Outside:  4-1/4”
 Inside:    1-1/8”
Teeth:   9

RH 845  WEAR BLOCK for RH 842 or RH 844

RH 844 SPOOL

Length:    2-3/4”
Diameter:    2-1/4”

NOTE:  Please specify 7/8” or 1” rod

Length:    2”
Diameter:    2-1/4”

Holes:   3/8”
Hole spacing:   1-3/4”

Length:    4-7/8”
Slot:    3/8” x 3/16”

Length:    16”
Width:    3-1/2”

Chrome Alloy rod (RH 16) 
pre-welded onto leading 
edge of 3/8”  T-1 steel.

 RH 856 - 1/2”
Length:  1-1/4”    



39

R & H   Chrome  Alloy  ROD WEEDER  PARTS

R & H Machine Inc ● 115 Roedel Ave.   Caldwell, ID 83605 ● 1-800-321-6568

TO FIT:  MORRIS

RH 873 WEAR COLLAR

CENTER DRIVE SPROCKET and COLLAR

RH 879 DRIVE SPROCKET

BOOT POINT

RH 886 REGULAR POINT

RH 887 LEFT and RIGHT REPLACEABLE

  BOLT-ON SIDE PLATES

RH 877  WEAR BLOCK for RH 875

SPOOL and WEAR BLOCKS

RH 878  WEAR BLOCK for ROUND ROD

GOOSE-NECK POINTS

RH 882 A GOOSE-NECK POINT

RH 881 A TIP for GOOSE-NECK   

Chrome Alloy rod (RH 16) pre-welded onto
leading edge. of T-1 steel

RH 871 HEX-CENTER DRIVE SPROCKET for 1” HEX RH 875 SPOOL - for 1” HEX ROD

WELD-ON DRIVE SPROCKET 

Chrome Alloy strip pre-welded onto leading edge.

Collar diameter:
 Outside:  2-7/8”
 Inside:    1-5/8”

Diameter:   3-3/4”
Width:   2-1/8”
Teeth:   8

Diameter:
 Outside:  3-7/8”
 Inside:    2”
Teeth:   9

Length:    6-3/4”
Thickness:    1-3/4” 
Web thickness:   7/8”
Threaded insert:  
 two 1/4” bolts
   1” spacing
Bolt hole (face): 7/16”

Length:    7”
Holes:
 one 3/8 ”
 two 1/4”

Length:    2-1/8”
Diameter:    2-3/8”

Length:    2-1/2”

Length:    5-3/4”
Notch:    3/8”

Length:    7-1/2”
Hole:    5/16”

Length:    12-1/2”
Width:    3-1/2”



40

R & H   Chrome  Alloy  ROD WEEDER  PARTS

R & H Machine Inc ● 115 Roedel Ave.   Caldwell, ID 83605 ● 1-800-321-6568

TO FIT:  FLEX KING

RH 898 SPOOL

RH 831 CENTER DRIVE SPROCKET

RH 835 WEAR COLLAR

CENTER DRIVE SPROCKET and COLLAR
TO FIT:  EDWARDS

RH 825 E IDLER SPROCKET

RH 827 E BUSHING

RH 795 F CAST WASHER

IDLER SPROCKET ASSEMBLY

SPOOLS and WEAR BLOCK

Length:    2”
Diameter:    2-1/4”

Length:    2-1/2”
Width:    1-3/4”
Slot:    1/2” x 3/4”

 Outside:  2-1/2”
 Inside:    1-5/8”

Diameter:   4”
Width:   2”
Teeth:   9

Length:    2-7/8”
Diameter:    2”

Length:    3-7/8”
Width:    2”
Hole:    3/8”

Diameter:  4-7/8”
Width   3/4”
Teeth:   11

Outside:  1-1/8”
Inside:    5/8”
Length:    3/4”

RH 896 BOOT POINT

Height:   5-1/4” 
Thickness:   2” 
Web thickness:     1-1/2”
Bolt holes:    7/16”
Hole spacing:   2-1/8”

RH 842-7/8 SPOOL with SET-SCREW COLLAR
RH 844-7/8 SPOOL

SPOOLS and WEAR BLOCKS

Length:    2-3/4”
Diameter:   2-1/4”

Length:    2”
Diameter:   2-1/4”

Holes:   3/8”
Hole spacing:  1-3/4”

 BOOT POINT

RH 842 SPOOL with SET-SCREW COLLAR

Length:  2-3/4”
Diameter:  2-1/4”

NOTE:  Please specify 7/8” or 1” rod

TO FIT:  ANDERSON and LEON
RH 891 CENTER DRIVE SPROCKET - 1-1/8” ROUND ROD
RH 892 WEAR COLLAR

Diameter:  1-3/4”
Hole: - 5/8”

RH 845  WEAR BLOCK for RH 842 or RH 844

RH 897 WEAR BLOCK

Diameter:   4-1/4”
Width:   2”
Teeth:   9
Collar diameter:
 Outside:  2-7/8”
 Inside:    1-3/4”

RH 847 WEAR BLOCK for RH 842 or RH 844

RH 844 SPOOL

NOTE:  Please specify 7/8” or 1” rod

NOTE:  Please specify 1”, 7/8” or 3/4” rod

NOTE:  Please specify 7/8” or 3/4” rod


